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OZFH uA 20,000
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FL2E0s 483 XA 33,760 29,524 4,236
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201 Let24dy] 10,236 10,000 236
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s 4,200
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= 1,200
fia 2,800
301 et d s 3,000 3,000 0
09 SALAHI 2 & 3,000 3,000 0
ouns & A 1,500
O&23t0t= 1,500
307 gl2tol & 16,524 16,524 0
= 4,572
< 4,572
s 7,380
02 212t &P ALY 16,524 16,524 0
OdLs0t2 16,524
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& 4,572
= 7,380
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Xl 29,000
= 571,548
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= 571,548
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OMAa4 =HES ¢ 2,000
OHAA 225 ¢ 1,800
OSEHNMHEH 2933 =Y 1,120

02 3524t 147,728 0 147,728
OCCTVE Sl & AtE= 50,000
Oxs&W CCTVEESH AIEZ 13,728
OCCTVE D] AlE = 10,000
OZMHEH ClHY AtEZ 6,000
OHANH 2% MIIMERZ 15,000
OAI& &H|l KX Hl| 53,000
— CCTV S&Ew X2 50,000
— SE2HAEH S22 3,000

307 QI2t0| M 375,900 0 375,900

05 0I2t2 &3 375,900 0 375,900
OZHEE 2UEHE RS 250,000
OZHHME RUHE I (=SS W) 125,900

401 Al HI L ROl 68,000 0 68,000
Xl 29,000
= 39,000

01 A& HI 68,000 0 68,000
OCCTV = A& i & 232574l 10,000
OxS&u CCTV SS2MHEE HH 2= 58,000
Xl 29,000
= 29,000

HMSAAY (A 43,876,333 39,453,889 4,422,444
= 220,740
= 43,655,593

ol 2 AY| 43,606,753 39, 187,069 4,419,684
= 220,740
= 43,386,013
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e 39,743,844
101 @124 dl 30,570,727 28,815,368 1,755,359
= 205,140
s 30,365,587
01 2= 29,952,845 28,193,580 1,759,265
oss 19,928,375
-z 81,320
-2 79,257
— LA 18,716,040
432 (285 8) 4,505,320 =2 x 128 108,128
52(30&3) 4,177 ,2683 x28H « 123 1,403,563
- 62 (272 8) 3,556,890 x176H »12& 7,512,152
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O&N3 1,660,698
— &2+ 19,928,375,000& *1/12 1,660,698
OFSELE =, 2,369,921
—URIRAL(2S+4.1%) 655,488
—Z32=gotar32 (54004 487,875
— 2 FIIIA3 (2001 &) 72,868
—JIEE 360,000
—NHESHEXSY 139,213
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A2 1,022,220
g2 | 1,022,220
oz 500,000 x1H =123 6,000
OF it 450,000& x1H «12& 5,400
O4= 400,000 x2H 128 9,600
Obg, A& 250,000 34 «12& 102,000
063, NEM(BEE 014)
155,000 203 x12& 377,580
O7= 140,000& x165H «12& 277,200
O8-95, a3 105,000& x194&H «12& 244,440
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=NLENICES ,902,291
OSSS (2 &9 20%) 606,188
— oty EF A 585,025
- 5= 3,555,800& 62 x200% 42,670
- 62 3,057,000& »36F *200% 220,104
= 2,599, 000& *33& x200% 171,534
- 82 2,159,000& »23H *200% 99,314
- 9= 1,835,800 *14H x200% 51,403
— A=A 21,163
K & A 2,645,300& 4 x200% 21,163
OAS = (H &S 20%=1 ~ 60%0ILH) 775,267
— oty EF A 737,503
- 4= 4,039,800& *1H *125% 5,050
- 55 3,555,800 »11H «125% 48,893
6= 3,057,000& 71 x125% 271,309
A= 2,599,000& 65 *125% 211,169
- 82 2,159,000& 49 % 125% 132,239
- 95 1,835,800 30 »125% 68,843
- A& 37,764
A& 2 3,747 ,4003 1 «125% 4,685
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